# Symplectic or Contact Structures on Lie Groups 

Yu.Khakimdjanov and M.Goze<br>Université de Haute Alsace<br>4, rue des Frères Lumière, 68093 Mulhouse Cédex, France.<br>E-mails: Y.Hakimjanov@uha.fr, M.Goze@uha.fr

## A.Medina

Université de Montpellier II
case 051, 34095 Montpellier Cédex 5, France
E-mail: medina@math.univ-montp2.fr

## Introduction

In the sequel $G$ stands for a Lie group (supposed to be connected as a matter of simplicity) with Lie algebra $\mathfrak{g}:=T_{\varepsilon}(G)$, where $\varepsilon$ is the unit of $G$. If $G$ is endowed with a left invariant differential 1-form $\alpha^{+}$such that

$$
\alpha^{+} \wedge\left(d \alpha^{+}\right)^{p} \neq 0
$$

where $2 p+1$ is the dimension of $G$, we will say that the pair $\left(G, \alpha^{+}\right)$is a contact Lie group and that $(\mathfrak{g}, \alpha)$ is a contact Lie algebra; here $\alpha:=\alpha_{\varepsilon}^{+}$.

Following Lichnerowicz-Medina 19 a pair $\left(G, \Omega^{+}\right)$where $\Omega^{+}$is a left invariant symplectic form, is termed a symplectic Lie group and the corresponding infinitesimal object $(\mathfrak{g}, \omega)$, where $\omega:=\Omega_{\varepsilon}^{+}$, is referred to as a symplectic Lie algebra.

In [21] (see also [5], [6]) a method of construction of symplectic Lie algebras, called "Symplectic Double Extension", is described. According to the theorem 2.5 in [21] every nilpotent symplectic Lie algebra is obtained from a sequence of "Symplectic Double Extension" starting from the trivial abelian Lie algebra consisting on only one element.

This result immediately implies that every nilpotent contact Lie algebra can be obtained by two operations, namely: the "Symplectic Double Extension" and the contactization.

Corresponding to those operations are inverse operations, well-known by geometers, the symplectic reduction and the symplectization.

Here are some few words about the main results and the organization of this work.

The section 1 gives a geometric description of the Contact Lie groups. In the theorem 1, they arise to be fibre bundles with connections the fibre being one dimensional, over a reductive homogeneous space

$$
H \stackrel{i}{\hookrightarrow} G \xrightarrow{\pi} M=G / H
$$

provided with a symplectic form, satisfying $\pi^{*}(\Omega)=\widehat{\Omega}$ where $\widehat{\Omega}$ is the curvature form of the connection $\alpha^{+}$(see [3]). Sometimes $G / H$ is a symplectic Lie group.

The section 2 supplies a necessary and sufficient condition for a filiform Lie group to possess a left invariant contact form (see the Theorem 4). Such a contact form is unique up to a non zero scalar multiple and has a simple expression in terms of an adapted basis (see the Theorem 5).

Here it is convenient to recall some known facts. According to a result from Gromov, every Lie group of odd dimension admits a non necessary left invariant contact form. A symplectic Lie group $\left(G, \Omega^{+}\right)$is endowed with a left invariant affine structure (see (4) defined by the following formulas for $a, b, c$ in $\mathfrak{g}$

$$
\begin{gathered}
\omega(a b, c)=-\omega(b,[a, c]) \\
\nabla_{a^{+}} b^{+}:=(a b)^{+}
\end{gathered}
$$

where $a^{+}$is the left invariant vector field on $G$ such that $a_{\varepsilon}^{+}=a$. Such connection $\nabla$ is fundamental in the description of the symplectic Lie groups and specially Kählérian Lie groups (see [5], [6]). Unlike the symplectic case there exists contact Lie groups with no left invariant affine structure. This is what happens for semi-simple contact Lie groups. More surprising, there even exists nilpotent contact Lie groups that never admit such an affine structure: a direct verification allows us to check that the example of Benoist (of dimension 11) supplied in [2] is among them.

Our work ends by supplying all nilpotent symplectic Lie algebras of dimension $\leq 6$.

In this paper the following standard convention will be used without explicit mentioning: for a concrete basis $X_{1}, \ldots, X_{n}$ of a Lie algebra only those brackets [ $X_{i}, X_{j}$ ] which are nonzero and for which $i<j$ will be explicitly defined .

## 1 Contact Lie Groups as principal bundles with connection

The aim of this section is to prove the more or less known following results (see [3] , 11], 12]).

Theorem 1.1 Let $\left(G, \alpha^{+}\right)$be a connected contact Lie group and $H$ the isotropy subgroup of $\alpha:=\alpha_{\varepsilon}^{+}$, for the coadjoint action. Then
(a) The Lie group $H$ is 1-dimensional and the homogeneous space $M:=G / H$ is reductive in the sense of Nomizu.
(b) The form $\alpha^{+}$is a "connection form" on the canonical principal bundle

$$
\begin{equation*}
H \stackrel{i}{\hookrightarrow} G \xrightarrow{\pi} M=G / H \tag{1}
\end{equation*}
$$

the curvature form $\widetilde{\Omega}$ of which satisfies the condition $\widetilde{\Omega}=d \alpha^{+}$.
(c) There exists a symplectic form $\Omega$ on $M$ such that $\pi^{*}(\Omega)=\widetilde{\Omega}$.
(d) The canonical action of $G$ on $\left(G / H_{0}, \Omega_{0}\right)$ is Hamiltonian, where $H_{0}$ is the connected component of the unit in $H$ and $\Omega_{0}=p^{*}(\Omega)$ with $p$ being the natural projection of $G / H_{0}$ onto $G / H$.

Proof. It is clear that $H:=\left\{\sigma \in G: \operatorname{Ad}^{*}(\sigma)(\alpha)=\alpha\right\}$ is a closed (hence embedded) subgroup of $G$, the Lie algebra $L(H)=\left\{x \in \mathfrak{g}: \operatorname{ad}^{*}(x)(\alpha)=0\right\}$ of which coincides with the radical $\operatorname{Rad}(d \alpha)$ of the bilinear form $d \alpha$. Set $\operatorname{dim} G=2 p+1$ and let's prove that $\operatorname{dim} H=1$. As $\alpha^{+}$is a contact form, $\operatorname{Ker} \alpha \cap \operatorname{Rad}(d \alpha)=\{0\}$ so that one has

$$
\begin{array}{r}
0 \leq \operatorname{dim}(\operatorname{Ker} \alpha+\operatorname{Rad}(d \alpha))=\operatorname{dim} \operatorname{Ker} \alpha+\operatorname{dim} \operatorname{Rad}(d \alpha) \\
=2 p+\operatorname{dim} \operatorname{Rad}(d \alpha) \leq 2 p+1
\end{array}
$$

that is $0 \leq \operatorname{dim} H \leq 1$ (11].
If $\operatorname{dim} H=0$, a fortiori $G$ is of odd dimension, as the manifold $G / H$ and $\operatorname{Orb}(\alpha)$, orbit of $\alpha$ via $\mathrm{Ad}_{G}^{*}$, are diffeomorphic. This is absurd. Thus $\operatorname{dim} H=1$.

Let's prove that $M:=G / H$ is reductive.. Let $z \in L(H)$ such that $\alpha(z)=1$; one has $L(H)=\mathbb{R} z$. Set $\mathfrak{m}:=\{x \in \mathfrak{g}: \alpha(x)=0\}$, then we get $\mathfrak{g}=L(H) \oplus \mathfrak{m}$. Furthermore for $x \in \mathfrak{m}$ and $\tau \in H$ we have

$$
\alpha\left(\operatorname{Ad}\left(\tau^{-1}\right)(x)\right)=\operatorname{Ad}^{*}(\tau)(\alpha)(x)=\alpha(x)=0
$$

i.e. $\operatorname{Ad}^{*}(H)(\mathfrak{m}) \subset \mathfrak{m}$.

Let $z^{+}$be the left invariant vector field in $G$ with $z_{\varepsilon}^{+}=z$. For every $X \in$ $T_{\sigma}(G)$, let

$$
\theta_{\sigma}(X):=\alpha_{\sigma}^{+}(X) z_{\sigma}^{+}
$$

Let's check that $\theta$ is a connection form.
Denote $x^{*}$ the vertical (relative to the fibration (11)) vector field on $G$ associated to $x \in L(H)$. For $\sigma \in G$, one has

$$
x_{\sigma}^{*}:=\left.\frac{d}{d t}\right|_{t=0}(\sigma \exp t x)=x_{\sigma}^{+}
$$

As $x=\lambda z$ for some $\lambda \in \mathbb{R}$, it follows

$$
x_{\sigma}^{+}:=\left(L_{\sigma}\right)_{*, \varepsilon}(x)=\left(L_{\sigma}\right)_{*, \varepsilon}(\lambda z)=\lambda\left(L_{\sigma}\right)_{x, \varepsilon}(z)=\lambda z_{\sigma}^{+}=x_{\sigma}^{*}
$$

Thus

$$
\theta_{\sigma}\left(x_{\sigma}^{*}\right)=\theta_{\sigma}\left(\lambda z_{\sigma}^{+}\right)=\lambda \theta_{\sigma}\left(z_{\sigma}^{+}\right)=\lambda \alpha_{\sigma}^{+}\left(z_{\sigma}^{+}\right) z_{\sigma}^{+}=\lambda z_{\sigma}^{+}=x_{\sigma}^{*}
$$

Now let's prove that for every $\tau \in H$ we have $\left(R_{\tau}\right)^{*} \theta=\operatorname{Ad}\left(\tau^{-1}\right) \theta$. From the equalities $\mathrm{Ad}^{*}(\tau) \alpha=\alpha$ and $L_{\tau}^{*} \alpha^{+}=\alpha^{+}$, its follows that $R_{\tau}^{*} \alpha^{+}=\alpha^{+}$for every $\tau \in H$.
For $X_{\sigma} \in T_{\sigma}(G)$ and for every $\tau \in H, \sigma \in G$ we have:

$$
\begin{gathered}
\left(R_{\tau}^{*} \theta\right)\left(X_{\sigma}\right)=\theta_{\sigma \tau}\left(\left(R_{\tau}\right)_{*, \alpha} X_{\sigma}\right)=\alpha_{\sigma \tau}^{+}\left(\left(R_{\tau}\right)_{*, \alpha} X_{\sigma}\right) z_{\sigma r}^{+} \\
\theta_{\sigma}\left(X_{\sigma}\right)=\alpha_{\sigma}^{+}\left(X_{\sigma}\right) z_{\sigma}^{+}
\end{gathered}
$$

As $\alpha_{\sigma \tau}^{+}\left(\left(R_{\tau}\right)_{*, \alpha} X_{\sigma}\right)=\alpha_{\sigma}^{+}\left(X_{\sigma}\right)$ it follows that $R_{\tau}^{*} \theta=\theta$. Hence we must check that $\theta=\operatorname{Ad}\left(\tau^{-1}\right) \cdot \theta=R_{\tau}^{*} \theta$ for $\tau \in H$, that is

$$
\theta\left(\left(R_{\tau}\right)_{*} X\right)=\operatorname{Ad}\left(\tau^{-1}\right) \theta(X)
$$

for every $\tau \in H$. But this arises from the fact that $H$ is commutative. Thus $\theta$ is a connection form.

Let $\widetilde{\Omega}$ be the curvative form of $\theta$. From the fact that $\operatorname{dim} H=1$, the relation

$$
d \theta(X, Y)=-\frac{1}{2}[\theta(X), \theta(Y)]+\widetilde{\Omega}(X, Y)
$$

for all $X, Y \in T_{\sigma}(G)$ then reads

$$
d \theta(X, Y)=\widetilde{\Omega}(X, Y)=d \alpha^{+}(X, Y)
$$

Let's prove (c). As $\widetilde{\Omega}=d \alpha^{+}$we will have $L_{\sigma}^{*} \widetilde{\Omega}=\widetilde{\Omega}$ for all $\sigma \in G$. Furthermore, for every $\tau$ in $H$,

$$
R_{\tau}^{*} \widetilde{\Omega}=R_{\tau}^{*}\left(d \alpha^{+}\right)=d\left(R_{\tau}^{*} \alpha^{+}\right)=d \alpha^{+}=\widetilde{\Omega}
$$

Let $[\sigma] \in M$ and $u, v$ in $T_{[\sigma]}(M)$. Set

$$
\Omega_{[\sigma]}(u, v):=\widetilde{\Omega}_{\sigma}\left(u_{\sigma}, v_{\sigma}\right)
$$

where $u_{\sigma}$ (respectively $v_{\sigma}$ ) is the horizontal lifts of $u$ (respectively of $v$ ) at $\sigma$. Let's see first that $\Omega$ is well defined. Let $u_{\sigma \tau}, v_{\sigma \tau}$ be the horizontal lifts of $u$ and $v$ at $\sigma \tau$ with $\tau \in H$. One has

$$
\widetilde{\Omega}_{\sigma \tau}\left(u_{\sigma \tau}, v_{\sigma \tau}\right)=\widetilde{\Omega}_{\sigma \tau}\left(\left(R_{\tau}\right)_{*, \alpha} u_{\sigma},\left(R_{\tau}\right)_{*, \alpha} v_{\sigma}\right)=\widetilde{\Omega}_{\sigma}\left(u_{\sigma}, v_{\sigma}\right)
$$

as $\widetilde{\Omega}$ is $R_{\tau}$ invariant, $\tau \in H$.
In addition the equalities

$$
\pi^{*}(d \Omega)=d\left(\pi^{*} \Omega\right)=d \widetilde{\Omega}=d\left(d \alpha^{+}\right)=0
$$

imply that $d \Omega=0$ and taking into account the following

$$
\pi^{*}\left(\Omega^{p}\right)=\left(\pi^{*} \Omega\right)^{p}=(\widetilde{\Omega})^{p}=\left(d \alpha^{+}\right)^{p} \neq 0
$$

we then deduce that $\Omega$ is symplectic and invariant by the canonical action of $G$ on $M$.

The canonical map $p: G / H_{0} \rightarrow G / H, \quad \sigma H_{0} \rightarrow \sigma H$, is obviously a covering map. Let $\Omega_{0}:=p^{*}(\Omega)$. It is clear that $\Omega_{0}$ is symplectic and invariant by the canonical action of $G$ on $G / H_{0}$. Furthermore, one has $R_{\tau}^{*} \widetilde{\Omega}=\widetilde{\Omega}$ for all $\tau$ in $H_{0}$. We have $\pi_{0}^{*} \Omega_{0}=\widetilde{\Omega}$ where $\pi_{0}: G \rightarrow G / H_{0}=: M_{0}$ is the canonical injection.

We are going to prove now that the canonical action

$$
\phi: G \times M_{0} \rightarrow M_{0} \quad(\sigma,[\rho]) \mapsto[\sigma \rho]=: \phi_{\sigma}([\rho])
$$

is a Hamiltonian action. The action $\phi$ is symplectic. For $x \in \mathfrak{g}$, let $[\widetilde{x}]$ be the fundamental vector field on $M_{0}$ associated to $x$. It is clear that the following diagram is commutative:

for every $\sigma$ in $G$. Let's denote by $\widetilde{x}$ the horizontal lift (relative to $\theta_{0}$ ) of $[\widetilde{x}]$ on the total space of the fiber with connection $H_{0} \hookrightarrow G \rightarrow M_{0}$. This vector field is invariant under the $R_{\tau}$ for $\tau \in H_{0}$. Moreover, as the flows of $\widetilde{x}$ and $[\widetilde{x}]$ are the same via $\pi_{0}$ and

$$
[\widetilde{x}]_{[\sigma]}:=\left.\frac{d}{d t}\right|_{t=0} \exp t x \cdot[\sigma]=\left.\frac{d}{d t}\right|_{t=0}[\exp t x \cdot \sigma]
$$

it follows that the flow of $\widetilde{x}$ consists on left translations on $G$. Thus $\widetilde{x}$ is a right invariant vector field on $G$. Let's emphasize on the fact that we are not pretending that $\widetilde{x}$ is the right invariant vector field $x^{-}$associated to $x$. We only have $\widetilde{x}=y^{-}$for some $y \in \mathfrak{g}$ satisfying $\pi_{*, \varepsilon}(y)=[x]_{\pi_{0}(\varepsilon)}$.

Let $\left(\varphi_{t}\right)_{t}$ be the flow of $\widetilde{x}=y^{-}$. One has
$0=\mathcal{L}\left(y^{-}\right) \alpha^{+}=\left(d \circ i\left(y^{-}\right)+i\left(y^{-}\right) \circ d\right) \alpha^{+}=d\left(\alpha^{+}\left(y^{-}\right)\right)+\left(i\left(y^{-}\right) \circ d\right)\left(\alpha^{+}\right)$
where $\mathcal{L}$ is the derivative. But one also has

$$
i\left(y^{-}\right) d \alpha^{+}=i\left(y^{-}\right) \pi_{0}^{*}\left(\Omega_{0}\right)=\pi_{0}^{*}\left(i[\widetilde{x}]\left(\Omega_{0}\right)\right)
$$

so that

$$
\begin{equation*}
0=d\left(\alpha^{+}\left(y^{-}\right)\right)+\pi_{0}^{*}\left(i[\widetilde{x}] \Omega_{0}\right) \tag{2}
\end{equation*}
$$

Let's consider the function $f_{y}: G \rightarrow \mathbb{R}, \quad f_{y}(\sigma):=\alpha_{\sigma}^{+}\left(y_{\sigma}^{-}\right)$. Let's prove that $f_{y}$ can be projected by $\pi_{0}$. Let $Y \in T_{\sigma}(G)$. From (2) we have,

$$
d\left(\alpha^{+}\left(y^{-}\right)\right)\left(Y_{\sigma}\right)=Y_{\sigma}\left(\alpha^{+}\left(y^{-}\right)\right)=Y_{\sigma}\left(f_{y}\right)=-\Omega_{0}\left([\widetilde{x}],\left(\pi_{0}\right)_{*, \sigma} Y_{\sigma}\right)
$$

Consequently, if $Y$ is tangent to the fiber (that is if $\left(\pi_{0}\right)_{*, \sigma} Y_{\sigma}=0$ ), we'll have $Y_{\sigma}\left(f_{y}\right)=0$ for every $\sigma$ in $G$. Hence $f$ is constant along $H_{0}$. This implies the existence of a smooth function $J_{y}: M_{0} \rightarrow \mathbb{R}$ such that $J_{y} \circ \pi_{0}=f_{y}$.

The following result is a complement of the theorem. It is directly proved by taking into account the ideas provided in the proof of the theorem.

Corollary 1.2 1]
(a) If $\left(G, \alpha^{+}\right)$is a contact Lie group of non discrete center $Z(G)$, then the quotient Lie group $G / Z(G)$ has left invariant symplectic form $\Omega^{+}$such that $\pi^{*} \Omega^{+}=-d \alpha^{+}$, where $\pi: G \rightarrow G / Z(G)$ is the canonical projection.
(b) Conversely, if $\left(K, \Omega^{+}\right)$is a symplectic Lie group, every Lie group $G$ with Lie algebra $L(G):=\mathbb{R}_{\omega} \times L(K)$ (the central extension of $L(K)$ by $\mathbb{R}$ via $\omega$ ), where $\omega:=\Omega_{\varepsilon}^{+}$, admits a left invariant contact form $\alpha^{+}$satisfying $\pi^{*} \Omega^{+}=$ $-d \alpha^{+}$(that is $\left.\pi^{*} \omega=-d \alpha\right)$.

Remark 1.1 (a) Notice that the manifold $G / H$ in the above theorem can be identified with the orbit $\operatorname{Orb}(\alpha)$ of $\alpha \in \mathfrak{g}^{*}$ for the coadjoint representation.
(b) If two contact Lie algebras $\left(\mathfrak{g}_{1}, \alpha_{1}\right)$ and $\left(\mathfrak{g}_{2}, \alpha_{2}\right)$ with non trivial centers are contacto-isomorphic (that is there exists an isomorphism of Lie algebras $\varphi: \mathfrak{g}_{1} \rightarrow \mathfrak{g}_{2}$, such that, $\left.\varphi^{*}\left(\alpha_{2}\right)=\alpha_{1}\right)$, then the symplectic Lie algebras $\left(\mathfrak{g}_{1} / Z\left(\mathfrak{g}_{1}\right), \omega_{1}\right)$ et $\left(\mathfrak{g}_{2} / Z\left(\mathfrak{g}_{2}\right), \omega_{2}\right)$ are symplecto-isomorphic (that is there exists an isomorphism of Lie algebras $\varphi: \mathfrak{g}_{1} / Z\left(\mathfrak{g}_{1}\right) \rightarrow \mathfrak{g}_{2} / Z\left(\mathfrak{g}_{2}\right)$, such that, $\left.\varphi^{*}\left(\omega_{2}\right)=\omega_{1}\right)$ and $\pi_{i}^{*} \omega_{i}=-d \alpha_{i}, \quad i=1,2 ;$ where $\pi_{i}: \mathfrak{g}_{i} \rightarrow \mathfrak{g}_{i} / Z\left(\mathfrak{g}_{i}\right)$ are the canonical projections .
(c) Let $\eta^{+}$be the left invariant $\mathfrak{g}$-valued invariant1-form on $G$ defined by $\eta_{\varepsilon}(x)=x$ for every $x \in \mathfrak{g}$. As $M:=G / H$ and $M_{0}:=G / H_{0}$ are reductive as stated in theorem, then the $L(H)$ is a component of $\eta$ gives rise to a connection on the fiber bundles $H \stackrel{i}{\hookrightarrow} G \xrightarrow{\pi} M$ and $H{ }_{0} \stackrel{i}{\hookrightarrow} G \xrightarrow{\pi_{0}} M_{0}$ which are invariant under the action of $G$ (18], page 103). Such connections coincide with the ones described in the above theorem.

## 2 Contact or Symplectic Filiform Lie algebras

### 2.1 Filiform Lie algebras (basic definitions and results)

Let $\mathfrak{g}$ be a nilpotent Lie algebra of dimension $n$. Let

$$
C^{0} \mathfrak{g} \supset C^{1} \mathfrak{g} \supset \ldots \supset C^{n-2} \mathfrak{g} \supset C^{n-1} \mathfrak{g}=\{0\}
$$

be the central descending series of $\mathfrak{g}$, where $C^{0} \mathfrak{g}=\mathfrak{g}, C^{i} \mathfrak{g}=\left[\mathfrak{g}, C^{i-1} \mathfrak{g}\right], 1 \leq i \leq$ $n-1$.

Definition 2.1 A Lie algebra $\mathfrak{g}$ of dimension $\geq 3$ is called filiform if $\operatorname{dim} C^{k} \mathfrak{g}=$ $n-k-1$ for $k=1, \ldots, n-1$.

We remark that the filiform Lie algebras have the maximal possible nilindex, that is $n-1$. These algebras are the "least" nilpotent.

## Examples of filiform Lie algebras

For each $n \in \mathbb{N}$ there exists several $(n+1)$-dimensional filiform Lie algebras which are specially remarkable. In the following description, the brackets are given relative to a basis $\left(X_{0}, X_{1}, \ldots, X_{n}\right)$.

1. The Lie algebra $L_{n}$ :

It is the simplest $(n+1)$-dimensional filiform Lie algebra. Its non trivial brackets are given by:

$$
\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1
$$

2. The Lie algebra $Q_{n} \quad(n=2 k+1)$ :

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1} \\
& {\left[X_{i}, X_{n-i}\right]=(-1)^{i} X_{n}, \quad i=1, \ldots, k}
\end{aligned}
$$

In the basis $\left(Z_{0}, Z_{1}, \ldots, Z_{n}\right)$, where $Z_{0}=X_{0}+X_{1}, \quad Z_{i}=X_{i}, \quad i=1, \ldots, n ;$ this Lie algebra is defined by

$$
\begin{aligned}
& {\left[Z_{0}, Z_{i}\right]=Z_{i+1}, \quad i=1, \ldots, n-2} \\
& {\left[Z_{i}, Z_{n-i}\right]=(-1)^{i} Z_{n}, \quad i=1, \ldots, k}
\end{aligned}
$$

3. The Lie algebra $R_{n}$ :

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1} \\
& {\left[X_{1}, X_{j}\right]=X_{j+2}, \quad j=2, \ldots, n-2}
\end{aligned}
$$

4. The Lie algebra $W_{n}$ :

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1} \\
& {\left[X_{i}, X_{j}\right]=\frac{6(i-1)!(j-1)!(j-i)}{(i+j)!} X_{i+j+1}, \quad 1 \leq i, j \leq n-2, \quad i+j+1 \leq n}
\end{aligned}
$$

This Lie algebra can be defined also relative to a basis $\left(Y_{1}, Y_{2}, \ldots, Y_{n+1}\right)$ by the brackets

$$
\left[Y_{i}, Y_{j}\right]=(j-i) Y_{i+j}, \quad i+j \leq n+1
$$

5. The Lie algebra $T_{n} \quad(n=2 k)$ :

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1} \\
& {\left[X_{k-i-1}, X_{k+i}\right]=(-1)^{i} X_{n}, \quad i=0,1, \ldots, k-2}
\end{aligned}
$$

6. The Lie algebra $T_{n} \quad(n=2 k+1):$

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1} \\
& {\left[X_{k-i-1}, X_{k+i+j}\right]=(-1)^{i} C_{i+j}^{i} X_{n+j-1}, \quad i=0,1, \ldots, k-2, \quad j=0,1}
\end{aligned}
$$

7. The Lie algebra $P_{n} \quad(n=2 k)$

$$
\begin{aligned}
& {\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, n-1 ; \quad\left[X_{k-1}, X_{k}\right]=X_{n}} \\
& {\left[X_{k-i-1}, X_{k+i}\right]=(-1)^{i}\left(1-\frac{2}{(k-1)(k-2)} C_{i+1}^{i-1}\right) X_{n}, \quad i=1, \ldots, k-2} \\
& {\left[X_{k-i-2}, X_{k+i+j-1}\right]=(-1)^{i} \frac{2}{(k-1)(k-2)} C_{i+j}^{i} X_{n+j-2}, \quad 0 \leq i \leq k-3 ; j=0,1 .}
\end{aligned}
$$

Let $\mathfrak{g}$ be a $m$-dimensional filiform Lie algebra. It is naturally filtered by descending central series and we can associate to $\mathfrak{g}$ a graded Lie algebra $g r \mathfrak{g}$ which is also filiform. This Lie algebra is defined on the vector space

$$
\operatorname{gr} \mathfrak{g}=\oplus_{i=1}^{m-1} \mathfrak{g}_{i}
$$

where $\mathfrak{g}_{i}=C^{i-1} \mathfrak{g} / C^{i} \mathfrak{g}$, by the brackets $\left[x+C^{i} \mathfrak{g}, y+C^{j} \mathfrak{g}\right]=[x, y]+C^{i+j} \mathfrak{g}$, $x \in C^{i-1} \mathfrak{g}, y \in C^{j-1} \mathfrak{g}$.

Proposition 2.1 [2G] Let $\mathfrak{g}$ be a m-dimensional filiform Lie algebra. Then the graded Lie algebra $g r \mathfrak{g}$ is isomorphic to $L_{m-1}$, if $m$ is odd, and isomorphic to $L_{m-1}$ or $Q_{m-1}$, if $m$ is even.

Let $\Delta$ be the set of pairs of integers $(k, r)$ such that $1 \leq k \leq n-1,2 k+1<$ $r \leq n, r \geq 4$ (if $n$ is odd we suppose that $\Delta$ contain also the pair $\left(\frac{n-1}{2}, n\right)$ ). For any element $(k, r) \in \Delta$, we can associate the 2-cocycle for the Chevalley cohomology of $L_{n}$ with coefficients in the adjoint module denoted $\Psi_{k, r}$ and defined by

$$
\Psi_{k, r}\left(X_{i}, X_{j}\right)=-\Psi_{k, r}\left(X_{j}, X_{i}\right)=(-1)^{k-i} C_{j-k-1}^{k-i} X_{i+j+r-2 k-1}
$$

if $1 \leq i \leq k<j \leq n, i+j+r-2 k-1 \leq n$ and $\Psi_{k, r}\left(X_{i}, X_{j}\right)=0$ otherwise. We remark that this formula for $\Psi_{k, r}$ is uniquely determined from the conditions :

$$
\begin{gathered}
\Psi_{k, r}\left(X_{k}, X_{k+1}\right)=X_{r} \\
\Psi_{k, r}\left(X_{i}, X_{j}\right) \in Z^{2}\left(L_{n}, L_{n}\right)
\end{gathered}
$$

Proposition 2.2 2G]Any $(n+1)$-dimensional filiform Lie algebra law $\mu \in F_{m}$ is isomorphic to $\mu_{0}+\Psi$ where $\mu_{0}$ is the law of $L_{n}$ and $\Psi$ is a 2-cocycle defined by

$$
\Psi=\sum_{(k, r) \in \Delta} a_{k, r} \Psi_{k, r}
$$

and verifying the relation $\Psi \circ \Psi=0$ with

$$
\Psi \circ \Psi(x, y, z)=\Psi(\Psi(x, y), z)+\Psi(\Psi(y, z), x)+\Psi(\Psi(z, x), y)
$$

Definition 2.2 Let $\mathfrak{g}$ be a $(n+1)$-dimensional filiform Lie algebra with law ر. A basis $\left(X_{0}, X_{1}, \ldots, X_{n}\right)$ of $\mathfrak{g}$ is called adapted, if $\left[X_{i}, X_{j}\right]=\mu_{0}\left(X_{i}, X_{j}\right)+$ $\Psi\left(X_{i}, X_{j}\right), \quad 0 \leq i, j \leq n$.

Proposition 2.3 Let $\mathfrak{g}$ be a filiform Lie algebra of dimension $\geq 4$. Then Derg is solvable.

Proof. Consider an adapted basis $\left(X_{0}, X_{1}, \ldots, X_{n}\right)$ of $\mathfrak{g}$. As the central descending series of $\mathfrak{g}$ is an invariant flag under all derivations it is sufficient to show that the ideal $\left\langle X_{1}, \ldots, X_{n}\right\rangle$ is also an invariant. Let $d \in \operatorname{Derg}$ and $d\left(X_{1}\right)=\sum_{i=0}^{n} a_{i} X_{i}$. For the 4-dimensional filiform Lie algebra $\overline{\mathfrak{g}}=\mathfrak{g} / C^{3} \mathfrak{g}$ (it is isomorphic to $L_{3}$ ) we have the derivation $\bar{d}$ with $\bar{d}\left(\bar{X}_{1}\right)=\sum_{i=0}^{3} a_{i} \bar{X}_{i}$. This is possible only if $a_{0}=0$.

Let $\mathfrak{g}$ be a Lie algebra. Consider in $\operatorname{Der} \mathfrak{g}$ a maximally abelian subalgebra $\mathfrak{t}$ consisting of semisimple endomorphisms (a such subalgebra is called torus of $\mathfrak{g}$ ). According to a theorem by Mostow 22] two such subalgebras are conjugated by
an inner automorphism. The common dimension of a tori on $\mathfrak{g}$ is called rank of $\mathfrak{g}$. Note that for nilpotent $\mathfrak{g}$ the rank cannot exceed the codimension of the derived ideal since $\mathfrak{g}$ is generated by any vector subspace of $\mathfrak{g}$ complementary to the derived ideal. For a filiform Lie algebra the only possible ranks are 0,1 and 2 .

Proposition 2.4 14/Let $\mathfrak{g}$ be a filiform Lie algebra of dimension $n+1$ and of rank 2. Then $\mathfrak{g}$ is isomorphic to $L_{n}$ if $n$ is even and isomorphic to $L_{n}$ or $Q_{n}$ if $n$ is odd.

The following theorem gives a description of the filiform Lie algebras of rank 1.

Theorem 2.5 14 Let $\mathfrak{g}$ be a filiform Lie algebra of dimension $n+1 \geq 7$ and of rank 1. There is a basis $\left(Y_{0}, Y_{1}, \ldots, Y_{n}\right)$ of $\mathfrak{g}$ such that $\mathfrak{g}$ is one of the following families of Lie algebras:

$$
\mathfrak{g}=A_{n+1}^{r}\left(\alpha_{1}, \ldots, \alpha_{t}\right), \quad 1 \leq r \leq n-3, \quad t=\left[\frac{n-r-1}{2}\right]
$$

$$
\begin{equation*}
\left[Y_{i}, Y_{j}\right]=\left(\sum_{k=i}^{t} \alpha_{k}(-1)^{k-i} C_{j-k-1}^{k-i}\right) Y_{i+j+r}, 1 \leq i \leq j \leq n, i+j+r \leq n \tag{i}
\end{equation*}
$$

$$
\mathfrak{g}=B_{n+1}^{r}\left(\alpha_{1}, \ldots, \alpha_{t}\right), n=2 m+1,1 \leq r \leq n-4, t=\left[\frac{n-r-2}{2}\right]
$$

$$
\begin{equation*}
\left[Y_{0}, Y_{i}\right]=Y_{i+1}, \quad 1 \leq i \leq n-2 \tag{ii}
\end{equation*}
$$

$\left[Y_{i}, Y_{n-i}\right]=(-1)^{i} Y_{n}, \quad 1 \leq i \leq m$,
$\left[Y_{i}, Y_{j}\right]=\left(\sum_{k=i}^{t} \alpha_{k}(-1)^{k-i} C_{j-k-1}^{k-i}\right) Y_{i+j+r}$,
$1 \leq i<j \leq n-1, \quad i+j+r \leq n-1$.
$\mathfrak{g}=C_{n+1}\left(\alpha_{1}, \ldots, \alpha_{t}\right), \quad n=2 m+1, \quad t=m-1$,
(iii)

$$
\left[Y_{0}, Y_{i}\right]=Y_{i+1}, \quad 1 \leq i \leq n-2
$$

$$
\left[Y_{i}, Y_{n-i}\right]=(-1)^{i} Y_{n}, \quad 1 \leq i \leq m
$$

$$
\left[Y_{i}, Y_{n-i-2 k}\right]=(-1)^{i} \alpha_{k} Y_{n}, \quad 1 \leq k \leq m-1, \quad 1 \leq i \leq n-2 k-1
$$

where $C_{q}^{s}$ are the binomial coefficients (we suppose that $C_{q}^{s}=0$ if $q<0$ or $q<$ s), $\left(\alpha_{1}, \ldots, \alpha_{t}\right)$ are the parameters satisfying the polynomial relations emanating from Jacobi's identity and at least one parameter $\alpha_{i} \neq 0$. A maximal torus of derivations is spanned by $d$, where :

$$
\begin{aligned}
& \text { If } \mathfrak{g}=A_{n+1}^{r}\left(\alpha_{1}, \ldots, \alpha_{t}\right): \\
& \qquad d\left(Y_{0}\right)=Y_{0}, \quad d\left(Y_{i}\right)=(i+r) Y_{i}, \quad 1 \leq i \leq n \\
& \text { If } \mathfrak{g}=B_{n+1}^{r}\left(\alpha_{1}, \ldots, \alpha_{t}\right) \\
& d\left(Y_{0}\right)=Y_{0}, \quad d\left(Y_{i}\right)=(i+r) Y_{i}, \quad 1 \leq i \leq n-1, \quad d\left(Y_{n}\right)=(n+2 r) Y_{n} \\
& \text { If }: \mathfrak{g}=C_{n+1}\left(\alpha_{1}, \ldots, \alpha_{t}\right): \\
& \quad d\left(Y_{0}\right)=0, \quad d\left(Y_{i}\right)=Y_{i}, \quad 1 \leq i \leq n-1, \quad d\left(Y_{n}\right)=2 Y_{n}
\end{aligned}
$$

Remark 2.1 (a) Let $n \geq 13$ and $r=1$. Then, up to isomorphism, there are only four Lie algebras $\mathfrak{g}$ of rank 1 if $n$ is even and three Lie algebras of rank 1 if $n$ is odd [10], 1才]: If $n$ is even and $\geq 14$, then $\mathfrak{g}$ is isomorphic to one of the Lie algebras $R_{n}, W_{n}, T_{n}, P_{n}$. If $n$ is odd and $\geq 13, \mathfrak{g}$ is isomorphic to one of the Lie algebras $R_{n}, W_{n}, T_{n}$. If $n=12$, then $\mathfrak{g}$ is isomorphic to one of the Lie algebras $R_{12}, W_{12}, T_{12}$.
(b) The laws $C_{n+1}\left(\alpha_{1}, \ldots, \alpha_{t}\right)$ satisfy the Jacobi's identity for all values of parameters $\left(\alpha_{1}, \ldots, \alpha_{t}\right)$.
(c) Let $\mathfrak{g}$ be a Lie algebra belonging to one of the families (i), (ii), (iii) and at least one of parameters $\alpha_{i}$ be different to zero. Then we can transform one of these parameters to 1 using the automorphism $\psi$ defined by $\psi\left(X_{0}\right)=a X_{0}$, $\psi\left(X_{1}\right)=b X_{1}$ (this is a unique type of automorphisms preserving the torus and the property of basis to be adapted). Modulo this transformation we have a classification up to isomorphism of filiform Lie algebras of rank 1.

### 2.2 Symplectization and contactization of the Filiform Lie algebras

The following result shows that the class of Filiform Lie algebras is closed respect to the contactization and symplectization process described in the section 1.

Theorem 2.6 Let $\left(G, \alpha^{+}\right)$be a contact filiform Lie group. Then the quotient $G / Z(G)$ is a symplectic filiform Lie group. Conversely, if $(K, \omega)$ is a symplectic filiform Lie group, then every central extension

$$
0 \rightarrow \mathbb{R} \rightarrow G \rightarrow K \rightarrow 0
$$

following $\omega$ is a contact filiform Lie group.
Proof. Let $\mathfrak{g}=L(G)$ be the Lie algebra of $G$. For an adapted basis $\left(X_{0}, X_{1}, \ldots, X_{2 p}\right)$ of $\mathfrak{g}$ we have $\left[X_{0}, X_{i}\right]=X_{i+1}, \quad i=1, \ldots, 2 p-1$ and $Z(\mathfrak{g})=\mathbb{R} \cdot X_{2 p}$. Following the corollary of theorem 1 the quotient $\mathfrak{g} / Z(\mathfrak{g})$ is a symplectic Lie algebra. Let $\pi: \mathfrak{g} \rightarrow \widetilde{\mathfrak{g}}=\mathfrak{g} / Z(\mathfrak{g})$ be the canonical projection. Then we have

$$
\left[\pi\left(X_{0}\right), \pi\left(X_{i}\right)\right]=\pi\left(X_{i+1}\right), \quad i=1, \ldots, 2 p-2
$$

and the Lie algebra $\tilde{\mathfrak{g}}$ is also filiform.
Conversely suppose that $(\mathfrak{g}, \omega)$ is a symplectic filiform Lie algebra of dimension $2 p$. Consider an adapted basis $\left(Y_{0}, Y_{1}, \ldots, Y_{2 p-1}\right)$ of $\mathfrak{g}$. As $\omega$ is a non degenerated form, there exists $0 \leq k \leq 2 p-2$, such that $\omega\left(Y_{k}, Y_{2 p-1}\right) \neq 0$. Let $\mathfrak{g}=\widetilde{\mathfrak{g}} \oplus_{\omega} \mathbb{R}$ be the central extension following $\omega$. The central descending sequence $\left\{C^{i} \mathfrak{g}\right\}$ satisfies the condition $\operatorname{dim} C^{i-1} \mathfrak{g} / C^{i} \mathfrak{g}=1$ for all $2 \leq i \leq 2 p-2$ because this property holds in $\mathfrak{\mathfrak { g }}$. As $\omega\left(Y_{k}, Y_{2 p-1}\right) \neq 0$ we have also $\operatorname{dim} C^{2 p-2} \mathfrak{g} / C^{2 p-1} \mathfrak{g}=1$ and $\operatorname{dim} C^{2 p-1} \mathfrak{g}=1$. Thus the nilindex of $\mathfrak{g}$ is equal to $2 p$ and $\mathfrak{g}$ is filiform.

### 2.3 Existence of a left invariant contact form

Theorem 2.7 Let $G$ be a $(2 p+1)$-dimensional filiform Lie group and $\mathfrak{g}$ its Lie algebra. Suppose that the law $\mu$ of $\mathfrak{g}$ is written in an adapted basis by the formula

$$
\mu=\mu_{0}+\sum_{(k, r) \in \Delta} a_{k, r} \Psi_{k, r}
$$

Then $G$ admits a left invariant contact form if and only if

$$
A_{j}:=\sum_{s=0}^{j-1}(-1)^{s} a_{p-j+s, 2 p-2(j-s-1)} C_{2 j-s-2}^{s} \neq 0, \quad j=1,2, \ldots, p-1
$$

if this property holds the linear form $\alpha=b_{0} \alpha_{0}+b_{1} \alpha_{1}+\ldots+b_{2 p} \alpha_{2 p}$ is a contact form on $\mathfrak{g}$ if and only if $b_{2 p} \neq 0$.

Proof. Let $A_{j} \neq 0, \quad j=1,2, \ldots, p-1$. We have

$$
\begin{aligned}
{\left[X_{0}, X_{2 p-1}\right] } & =X_{2 p} \\
{\left[X_{1}, X_{2 p-2}\right] } & =\sum_{k=1}^{p-1} a_{k, 2 k+2} \Psi_{k, 2 k+2}\left(X_{1}, X_{2 p-2}\right)=A_{p-1} X_{2 p} \\
{\left[X_{2}, X_{2 p-3}\right] } & =\sum_{k=2}^{p-1} a_{k, 2 k+2} \Psi_{k, 2 k+2}\left(X_{2}, X_{2 p-3}\right)=A_{p-2} X_{2 p} \\
& \cdots \\
{\left[X_{p-1}, X_{p}\right] } & =a_{p-1,2 p} \Psi_{p-1,2 p}\left(X_{p-1}, X_{p}\right)=A_{1} X_{2 p}
\end{aligned}
$$

and $\left[X_{j}, X_{m}\right]=0$, if $m \geq 2 p-j$. In the dual basis $\left(\alpha_{0}, \alpha_{1}, \ldots, \alpha_{2 p}\right)$ of $\mathfrak{g}^{*}$ the previous brackets give

$$
\begin{aligned}
d(\alpha)= & -\alpha_{0} \wedge \alpha_{2 p-1}-A_{p-1} \alpha_{1} \wedge \alpha_{2 p-2}-A_{p-2} \alpha_{2} \wedge \alpha_{2 p-3}-\ldots \\
& -A_{1} \alpha_{p-1} \wedge \alpha_{p}+\sum_{m<2 p-j-1} b_{j, m} \alpha_{j} \wedge \alpha_{m}
\end{aligned}
$$

where $\alpha=a_{0} \alpha_{0}+a_{1} \alpha_{1}+\ldots+a_{2 p-1} \alpha_{2 p-1}+\alpha_{2 p}$. Thus

$$
(d \alpha)^{p}=(-1)^{p} p!A_{1} A_{2} \cdots A_{p-1} \alpha_{0} \wedge \alpha_{1} \wedge \alpha_{2} \wedge \cdots \wedge \alpha_{2 p-1}
$$

and $\alpha \wedge(d \alpha)^{p} \neq 0$. This means that $\alpha$ is a contact form.
Conversely, we suppose now that the Lie algebra $\mathfrak{g}$ admits a contact form $\alpha$. We put

$$
\alpha=b_{0} \alpha_{0}+b_{1} \alpha_{1}+\ldots+b_{2 p} \alpha_{2 p}
$$

As $Z(\mathfrak{g})$ is not included in $\operatorname{Ker} \alpha$, then $b_{2 p} \neq 0$. We have

$$
\begin{align*}
d \alpha= & b_{0}\left(d \alpha_{0}\right)+b_{1}\left(d \alpha_{1}\right)+\ldots+b_{2 p}\left(d \alpha_{2 p}\right)= \\
& =b_{2}\left(-\alpha_{0} \wedge \alpha_{1}\right)+b_{3}\left(-\alpha_{0} \wedge \alpha_{2}\right)+b_{4}\left(-\alpha_{0} \wedge \alpha_{3}-a_{1,4} \alpha_{1} \wedge \alpha_{2}\right)+\ldots+ \\
& +b_{j}\left(\sum_{l+s<j} t_{l, s} \alpha_{l} \wedge \alpha_{s}\right)+\ldots+  \tag{*}\\
& +b_{2 p}\left(-\alpha_{0} \wedge \alpha_{2 p-1}-A_{p-1} \alpha_{1} \wedge \alpha_{2 p-2}-A_{p-2} \alpha_{2} \wedge \alpha_{2 p-3}-\ldots-\right. \\
& \left.-A_{1} \alpha_{p-1} \wedge \alpha_{p}+\sum_{m<2 p-j-1} b_{j, m} \alpha_{j} \wedge \alpha_{m}\right) .
\end{align*}
$$

As the basis $\left(X_{0}, X_{1}, \ldots, X_{2 p}\right)$ is adapted we have $X_{2 p} \perp d \alpha_{i}, \quad 0 \leq i \leq 2 p$, and thus $X_{2 p} \perp d \alpha$. But $\left(d \alpha_{2 p}\right)^{p} \neq 0$ and

$$
(d \alpha)^{p}=\lambda \alpha_{0} \wedge \alpha_{1} \wedge \alpha_{2} \wedge \cdots \wedge \alpha_{2 p-1}
$$

with $\lambda \neq 0$. Let us examine the terms of the expression $(*)$ which appear in the non null product $\left(d \alpha_{2 p}\right)^{p}$. In this expression, only there is one term containing the form $\alpha_{2 p-1}$; it is the term $-b_{2 p} \alpha_{0} \wedge \alpha_{2 p-1}$. We deduce that

$$
(d \alpha)^{p}=-b_{2 p} \alpha_{0} \wedge \alpha_{2 p-1} \wedge \theta
$$

where $\theta \in \wedge^{2 p-2} \mathfrak{g}, \theta \neq 0$ and $\alpha_{0}, \alpha_{2 p-1}$ does not appear in $\theta$. Let as examine now $\alpha_{2 p-2}$. As this containing in $(d \alpha)^{p}$, then $\theta=-b_{2 p} A_{p-1} \alpha_{1} \wedge \alpha_{2 p-2} \wedge \theta_{1}$ with $\theta_{1} \in \wedge^{2 p-4} \mathfrak{g}, \theta_{1} \neq 0$. In fact in the expression $t_{l, s} \alpha_{l} \wedge \alpha_{s}$ with $l+s<j, \quad j<2 p$, the index $s$ cannot be equal to $2 p-2$ except the case $l=0$. Likewise in the term $b_{j, m} \alpha_{j} \wedge \alpha_{m}$, we have $m \neq 2 p-2$ if $j \neq 0$.

Let us suppose now that the terms

$$
-b_{2 p} \alpha_{0} \wedge \alpha_{2 p-1},-b_{2 p} A_{p-1} \alpha_{1} \wedge \alpha_{2 p-2}, \ldots,-b_{2 p} A_{p-k} \alpha_{k} \wedge \alpha_{2 p-k-1}
$$

of the expression $(*)$ are the factors of $(d \alpha)^{p}$. Then $A_{p-1}, \ldots, A_{p-k} \neq 0$ for $1 \leq k<p-1$. In the same way we show that the term $-b_{2 p} A_{p-k} \alpha_{k+1} \wedge \alpha_{2 p-k-2}$ is also a factor of $(d \alpha)^{p}$. By induction we have

$$
(d \alpha)^{p}=(-1)^{p} p!b_{2 p}^{p} A_{1} A_{2} \cdots A_{p-1} \alpha_{0} \wedge \alpha_{1} \wedge \alpha_{2} \wedge \cdots \wedge \alpha_{2 p-1} \neq 0
$$

and $A_{1}, A_{2}, \ldots, A_{p-1} \neq 0$.

### 2.4 Classes of contacto-isomorphisms

Two contact Lie algebras $\left(\mathfrak{g}_{1}, \alpha_{1}\right)$ and $\left(\mathfrak{g}_{2}, \alpha_{2}\right)$ called contacto-isomorphic if there exists an isomorphism of Lie algebras $\varphi: \mathfrak{g}_{1} \rightarrow \mathfrak{g}_{2}$, such that, $\varphi^{*}\left(\alpha_{2}\right)=\alpha_{1}$. The following result gives the classification up contacto-isomorphisms of the contact forms on a filiform Lie algebras.

Theorem 2.8 Let $\mathfrak{g}$ be a filiform $(2 p+1)$-dimensional Lie algebra. Let us consider an adapted basis $\left(X_{0}, X_{1}, \ldots, X_{2 p}\right)$ of $\mathfrak{g}$ and its dual basis $\left(\alpha_{0}, \alpha_{1}, \ldots, \alpha_{2 p}\right)$. If $\alpha=a_{0} \alpha_{0}+a_{1} \alpha_{1}+\ldots+a_{2 p} \alpha_{2 p}$ is a contact form on $\mathfrak{g}$, then the form $\beta=a_{2 p} \alpha_{2 p}$ is also a contact form on $\mathfrak{g}$ and $(\mathfrak{g}, \alpha)$ is contacto-isomorphic to ( $\mathfrak{g}$, $\beta)$.

Proof. The fact that $\beta$ is a contact form on $\mathfrak{g}$ is a consequence of the proof of theorem 4. To prove the theorem it is sufficient to find an automorphism $\varphi \in$ Aut $\mathfrak{g}$ such that $\varphi^{*} \alpha=\beta$.

Consider the derivation $d=-a_{2 p-1}$ ad $X_{0}$. As ad $X_{0}\left(X_{i}\right)=X_{i+1}, i=$ $1, \ldots, 2 p-1$, the automorphism $A=\exp d$ satisfies the following property:

$$
A\left(X_{2 p-1}\right)=X_{2 p-1}-a_{2 p-1} X_{2 p}, \quad A\left(X_{2 p}\right)=X_{2 p}
$$

Then

$$
A^{*} \alpha_{2 p}=a_{2 p} \alpha_{2 p}-a_{2 p-1} \alpha_{2 p-1}+\sum_{i<2 p-1} c_{i} \alpha_{i}
$$

and

$$
A^{*} \alpha=a_{2 p} \alpha_{2 p}+\sum_{j \leq 2 p-2} q_{j} \alpha_{j}
$$

We suppose now that

$$
\alpha=a_{2 p} \alpha_{2 p}+\sum_{j \leq 2 p-k} b_{j} \alpha_{j}, \quad 2 \leq k \leq 2 p-1
$$

and we prove the existence of an automorphism $\varphi \in$ Aut $\mathfrak{g}$ such that

$$
\varphi^{*} \alpha=a_{2 p} \alpha_{2 p}+\sum_{j \leq 2 p-k-1} b_{j}^{\prime} \alpha_{j} .
$$

Consider the derivation $d=-\lambda b_{2 p-k}$ ad $X_{k-1}$. From the proof of the theorem 4 we have

$$
\operatorname{ad} X_{k-1}\left(X_{2 p-k}\right)=A_{p-k+1} X_{2 p}, \quad 2 \leq k \leq p
$$

and

$$
\operatorname{ad} X_{k-1}\left(X_{2 p-k}\right)=-A_{k-p} X_{2 p}, \text { si } k>p
$$

We have also $\operatorname{ad} X_{k-1}\left(X_{i}\right)=0$ for all index $i>2 p-k$. Let us put

$$
\lambda=\left\{\begin{array}{lll}
\frac{1}{A_{p}-k+1}, & \text { si } & 2 \leq k \leq p \\
\frac{-1}{A_{k-p}}, & \text { si } & i>2 p-2
\end{array}\right.
$$

Then the automorphism $\varphi=\exp d$ satisfies the required condition. By induction we deduce the theorem.

Remark 2.2 (a) The theorem 5 only concerns the filiform case. But, from a direct verification, we can affirm that this result remains true for every nilpotent Lie algebra of dimension less or equal to 7.
(b) Suppose that $\alpha_{2 p}$ is a contact form on the filiform Lie algebra $\mathfrak{g}$. In general the contact Lie algebras $\left(\mathfrak{g}, a \alpha_{2 p}\right)$ and $\left(\mathfrak{g}, b \alpha_{2 p}\right)$ with $a \neq b$ are not contactoisomorphic. But these contact Lie algebras are always contacto-isomorphic if $\mathfrak{g}$ admits a semisimple derivation (see [14] and the subsection 2.1 for their description).
(c) If $K=\mathbb{C}$, then the theorems 3, 4, 5 and the point (a) of this remark are valid. But the point (b) of this remark must be modified (see [\}]).

## 3 Symplectic Lie algebras of dimension $\leq 6$

The studied relation between the classes of symplectic Lie algebras of dimension $2 p$ and the contact Lie algebras of dimension $2 p+1$ and the description of contact structures on a filiform Lie algebras and on a nilpotent Lie algebras of dimension $\leq 7$ permits to obtain some classification results about symplectic Lie algebras. The following theorem gives a complete classification up to simplectoisomorphism of the symplectic Lie algebras of dimension $\leq 6$.

Theorem 3.1 Every nilpotent symplectic Lie algebra of the dimension $\leq 6$ is symplecto-isomorphic to one and only one of the following symplectic Lie algebras.

## Dimension 2

1. $\mathbb{R}^{2}$,

$$
\omega=\alpha_{1} \wedge \alpha_{2}
$$

## Dimension 4

1. $\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}$,

$$
\omega=\alpha_{1} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{3}
$$

2. $\left[X_{1}, X_{2}\right]=X_{3}$,

$$
\omega=\alpha_{1} \wedge \alpha_{3}+\alpha_{2} \wedge \alpha_{4}
$$

3. $\mathbb{R}^{4}$,

$$
\omega=\alpha_{1} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{3}
$$

## Dimension 6

1. 

$$
\begin{array}{ll}
{\left[X_{1}, X_{2}\right]=X_{3},} & {\left[X_{1}, X_{3}\right]=X_{4},} \\
{\left[X_{1}, X_{5}\right]=X_{6},} & \left.\left[X_{2}, X_{3}\right]=X_{5}\right]=X_{5}, \\
\omega=\alpha_{1} \wedge \alpha_{6}+(1-\lambda) \alpha_{2} \wedge \alpha_{5}+\lambda \alpha_{3} \wedge \alpha_{4}, \quad \lambda \in \mathbb{R} \backslash\{0,1\}
\end{array}
$$

2. $\quad\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}$,
$\left[X_{1}, X_{5}\right]=X_{6}, \quad\left[X_{2}, X_{3}\right]=X_{6}$,
$\omega(\lambda)=\lambda\left(\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{4}-\alpha_{2} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R} \backslash\{0\}$
3. $\quad\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}$,
$\left[X_{1}, X_{5}\right]=X_{6}$,
$\omega=\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
4. $\quad\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{6}$, $\left[X_{2}, X_{3}\right]=X_{5}, \quad\left[X_{2}, X_{5}\right]=X_{6}$, $\omega\left(\lambda_{1}, \lambda_{2}\right)=\lambda_{1} \alpha_{1} \wedge \alpha_{4}+\lambda_{2}\left(\alpha_{1} \wedge \alpha_{5}+\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{5}\right)$, $\lambda_{1} \in \mathbb{R}, \quad \lambda_{2} \in \mathbb{R} \backslash\{0\}$
5. 

$$
\begin{aligned}
& {\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=-X_{6},} \\
& {\left[X_{2}, X_{3}\right]=X_{5}, \quad\left[X_{2}, X_{5}\right]=X_{6},} \\
& \omega_{1}\left(\lambda_{1}, \lambda_{2}\right)=\lambda_{1} \alpha_{1} \wedge \alpha_{4}+\lambda_{2}\left(\alpha_{1} \wedge \alpha_{5}+\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{5}\right), \\
& \lambda_{1} \in \mathbb{R}, \quad \lambda_{2} \in \mathbb{R} \backslash\{0\} \\
& \omega_{2}(\lambda)=\lambda\left(-\alpha_{1} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{4}+\frac{1}{2} \alpha_{1} \wedge \alpha_{4}+\frac{1}{4} \alpha_{1} \wedge \alpha_{5}+\frac{1}{4} \alpha_{2} \wedge \alpha_{4}\right. \\
& \left.\quad-\alpha_{3} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R} \backslash\{0\} \\
& \omega_{3}(\lambda)=\lambda\left(-\alpha_{1} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{4}+\frac{3}{2} \alpha_{1} \wedge \alpha_{4}-\frac{3}{4} \alpha_{1} \wedge \alpha_{5}+\frac{1}{4} \alpha_{2} \wedge \alpha_{4}\right. \\
& \left.-\alpha_{3} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R} \backslash\{0\} \\
& \omega_{4}(\lambda)=\lambda\left(-\alpha_{1} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{4}-\frac{1}{2} \alpha_{1} \wedge \alpha_{4}+\frac{5}{4} \alpha_{1} \wedge \alpha_{5}+\frac{1}{4} \alpha_{2} \wedge \alpha_{4}\right. \\
& \\
& \left.-\alpha_{3} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R} \backslash\{0\}
\end{aligned}
$$

6. $\quad\left[X_{1}, X_{2}\right]=X_{3}, \quad\left[X_{1}, X_{3}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}$,
$\left[X_{2}, X_{3}\right]=X_{6}$,

$$
\begin{aligned}
& \omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}, \\
& \omega_{2}=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{4}-\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}
\end{aligned}
$$

7. $\left[X_{1}, X_{2}\right]=X_{4}$,
$\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{5}\right]=X_{6}$,
$\left[X_{2}, X_{3}\right]=X_{6}, \quad\left[X_{2}, X_{4}\right]=X_{6}$,

$$
\omega_{1}(\lambda)=\lambda\left(\alpha_{1} \wedge \alpha_{3}+\alpha_{2} \wedge \alpha_{6}+\alpha_{4} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R} \backslash\{0\}
$$

$$
\omega_{2}(\lambda)=\lambda\left(\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}\right), \quad \lambda \in \mathbb{R} \backslash\{0\}
$$

8. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{5}\right]=X_{6}$,
$\left[X_{2}, X_{3}\right]=X_{6}, \quad\left[X_{2}, X_{4}\right]=X_{6}$,
$\omega=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}$
9. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{5}\right]=X_{6}$,
$\left[X_{2}, X_{3}\right]=X_{6}$,
$\omega(\lambda)=\lambda\left(\alpha_{1} \wedge \alpha_{3}+\alpha_{2} \wedge \alpha_{6}+\alpha_{4} \wedge \alpha_{5}\right), \quad \lambda \in \mathbb{R}^{+}$
10. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{3}\right]=X_{6}$,
$\left[X_{2}, X_{4}\right]=X_{6}$,
$\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}-\alpha_{2} \wedge \alpha_{6}-\alpha_{3} \wedge \alpha_{4}$,
$\omega_{2}=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}+\alpha_{2} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{4}$
11. $\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}$,
$\left[X_{2}, X_{3}\right]=X_{6}, \quad\left[X_{2}, X_{4}\right]=X_{6}$,
$\omega_{1}(\lambda)=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\lambda \alpha_{2} \wedge \alpha_{6}-\alpha_{3} \wedge \alpha_{4}, \quad \lambda \in \mathbb{R}$ $\omega_{2}(\lambda)=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}+\lambda \alpha_{2} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{4}, \quad \lambda \in \mathbb{R}$
12. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{3}\right]=X_{6}$, $\left[X_{2}, X_{3}\right]=-X_{5}, \quad\left[X_{2}, X_{4}\right]=X_{6}$, $\omega\left(\lambda_{1}, \lambda_{2}\right)=\lambda_{1} \alpha_{1} \wedge \alpha_{5}+\lambda_{2} \alpha_{2} \wedge \alpha_{6}+\left(\lambda_{1}+1\right) \alpha_{3} \wedge \alpha_{4}$, $\lambda_{1} \in \mathbb{R} \backslash\{0,-1\}, \quad \lambda \in \mathbb{R}^{+}$
13. $\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{3}\right]=X_{5}, \quad\left[X_{1}, X_{4}\right]=X_{6}$, $\left[X_{2}, X_{3}\right]=X_{6}$,
$\omega_{1}(\lambda)=\alpha_{1} \wedge \alpha_{6}+\lambda \alpha_{2} \wedge \alpha_{5}+(\lambda-1) \alpha_{3} \wedge \alpha_{4}, \quad \lambda \in \mathbb{R} \backslash\{0,1\}$
$\omega_{2}(\lambda)=\alpha_{1} \wedge \alpha_{6}+\lambda \alpha_{2} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{5}, \quad \lambda \in \mathbb{R} \backslash\{0\}$ $\omega_{3}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\frac{1}{2} \alpha_{2} \wedge \alpha_{5}-\frac{1}{2} \alpha_{3} \wedge \alpha_{4}$
14. 

$\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{6}, \quad\left[X_{1}, X_{3}\right]=X_{5}$,
$\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{5}$,
$\omega_{2}=\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{5}$, $\omega_{3}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
15.

$$
\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{6}, \quad\left[X_{2}, X_{3}\right]=X_{5},
$$

$\omega_{1}=-\alpha_{1} \wedge \alpha_{5}+\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$,
$\omega_{2}=\alpha_{1} \wedge \alpha_{5}-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}$,
$\omega_{3}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}+\alpha_{3} \wedge \alpha_{5}$,
$\omega_{4}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}$,
$\omega_{5}=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
16. $\left[X_{1}, X_{2}\right]=X_{5}, \quad\left[X_{1}, X_{3}\right]=X_{6}$,
$\left[X_{2}, X_{4}\right]=X_{6}, \quad\left[X_{3}, X_{4}\right]=-X_{5}$,
$\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{3}-\alpha_{4} \wedge \alpha_{5}$,
$\omega_{2}=\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{3}+\alpha_{4} \wedge \alpha_{5}$
17. $\quad\left[X_{1}, X_{3}\right]=X_{5}, \quad\left[X_{1}, X_{4}\right]=X_{6}, \quad\left[X_{2}, X_{3}\right]=X_{6}$,
$\omega=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
18. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{3}\right]=X_{5}, \quad\left[X_{2}, X_{3}\right]=X_{6}$,
$\omega_{1}(\lambda)=\alpha_{1} \wedge \alpha_{6}+\lambda \alpha_{2} \wedge \alpha_{5}+(\lambda-1) \alpha_{3} \wedge \alpha_{4}, \quad \lambda \in \mathbb{R} \backslash\{0,1\}$, $\omega_{2}(\lambda)=\alpha_{1} \wedge \alpha_{5}+\lambda \alpha_{1} \wedge \alpha_{6}-\lambda \alpha_{2} \wedge \alpha_{5}+\alpha_{2} \wedge \alpha_{6}-2 \lambda \alpha_{3} \wedge \alpha_{4}$, $\lambda \in \mathbb{R} \backslash\{0\}$, $\omega_{3}=-2 \alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{4}-\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
19.

$$
\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{5}, \quad\left[X_{1}, X_{5}\right]=X_{6},
$$

$\omega=\alpha_{1} \wedge \alpha_{3}+\alpha_{2} \wedge \alpha_{6}+\alpha_{4} \wedge \alpha_{5}$
20.

$$
\begin{array}{ll}
{\left[X_{1}, X_{2}\right]=X_{3},} & {\left[X_{1}, X_{3}\right]=X_{4},} \\
{\left[X_{1}, X_{4}\right]=X_{5},} & {\left[X_{2}, X_{3}\right]=X_{5},} \\
\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}, \\
\omega_{2}=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}
\end{array}
$$

21. $\quad\left[X_{1}, X_{2}\right]=X_{4}, \quad\left[X_{1}, X_{4}\right]=X_{6}, \quad\left[X_{2}, X_{3}\right]=X_{6}$,

$$
\omega=\alpha_{1} \wedge \alpha_{5}+\alpha_{2} \wedge \alpha_{4}-\alpha_{3} \wedge \alpha_{4}-\alpha_{3} \wedge \alpha_{5}
$$

22. $\quad\left[X_{1}, X_{2}\right]=X_{5}, \quad\left[X_{1}, X_{5}\right]=X_{6}$,

$$
\omega=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}
$$

23. $\quad\left[X_{1}, X_{2}\right]=X_{5}, \quad\left[X_{1}, X_{3}\right]=X_{6}$,
$\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
$\omega_{2}=\alpha_{1} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{6}+\alpha_{3} \wedge \alpha_{5}$
$\omega_{3}=\alpha_{1} \wedge \alpha_{4}+\alpha_{2} \wedge \alpha_{6}-\alpha_{3} \wedge \alpha_{5}$
24. $\quad\left[X_{1}, X_{2}\right]=X_{6}, \quad\left[X_{2}, X_{3}\right]=X_{5}$,

$$
\omega_{1}=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}
$$

$$
\omega_{1}=-\alpha_{1} \wedge \alpha_{6}-\alpha_{2} \wedge \alpha_{5}-\alpha_{3} \wedge \alpha_{4}
$$

25. $\left[X_{1}, X_{2}\right]=X_{6}$, $\omega=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}$
26. $\quad \mathbb{R}^{6}$,

$$
\omega=\alpha_{1} \wedge \alpha_{6}+\alpha_{2} \wedge \alpha_{5}+\alpha_{3} \wedge \alpha_{4}
$$

## References

[1] J.M.Ancochea-Bermudez, M.Goze, Classification des algèbres de Lie nilpotentes de dimension 7, Arch. Math., 52:2(1989), 157-185.
[2] Y.Benoist, Une nilvariété non affine, J. Diff. Geometry 41:1(1995) 21-52.
[3] W.M.Boothby, H.C.Wang, On contact manifolds, Ann. of Math., 69:3(1958), 721-734.
[4] B-Y.Chu, Symplectic homogeneous spaces, Trans. Amer. Math. Soc., 197(1974), 145-159.
[5] J.-M.Dardié, A.Medina, Double extension symplectique d'un groupe de Lie symplectique, Advances in Math., 117:2(1996), 208-226.
[6] J.-M.Dardié, A.Medina, Algèbres de Lie kähleriennes et double extension, J. Algebra, 185(1996), 774-795.
[7] A.Elashvili, Frobenius Lie algebra. II (en russe), Trudy Tbiliss. Mat. Inst. Razmadze Akad. Nauk. Gruzin. SSR, v.77, 1985, 127-137.(en russe)
[8] J.R.Gomez, A.Jimenez-Merchan, Yu.Khakimdjanov, Low-Dimensional Filiform Lie Algebras, J. Pure and Applied Algebra, J. Pure Appl. Algebra. 30, 1998, 133-158.
[9] R.Gomez, A.Jimenez-Merchan, Yu.Khakimdjanov, Symplectic Structures on the Filiform Lie Algebras, J. Pure Appl. Algebra. 156:1, 2001, 15-31.
[10] M.Goze, A.Bouyakoub, Sur les algèbres de Lie munies d'une forme symplectique, Rend. Sem. Fac. Sc. Univ. Cagliari, 57:1(1987), 85-97.
[11] M.Goze, Sur la classe des formes invariantes sur un groupe de Lie, C.R.A.S., Paris, 284(1976).
[12] M.Goze, Algèbres de Lie frobeniusiennes, C.R.A.S., Paris, 293(1981).
[13] M.Goze, Yu.Khakimdjanov, Nilpotent Lie Algebras, Kluwer Academic Publishers, MIA 361, Dordrecht/Boston/London, 1996.
[14] M.Goze, Yu.Hakimjanov (Yu.Khakimdjanov), Sur les algèbres de Lie nilpotentes admettant un tore de dérivations, Manuscripta math., 84(1994), 115124.
[15] J.W.Gray, Some global properties on contact structures, Ann. of Math., 69:2(1959), 421-450.
[16] You.Hakimjanov (Yu.Khakimdjanov), Variétés des lois d'algèbres de Lie nilpotentes, Geom. Dedicata, 40:3(1991), 269-295.
[17] Yu. Khakimdjanov, Varieties of Lie Algebra Laws. HANDBOOK OF ALGEBRA, vol.2, Elsevier Science, 2000, 509-541.
[18] S.Kobayashi, K.Nomizu, Foundations of Differential Geometry. Vol. I. Interscience, New York 1969.
[19] A.Lichnerowicz, A.Medina, On Lie groups with left-invariant symplectic or kählerian structures, Lett. in Math. Phys., 16(1988), 225-235.
[20] A.Lichnerowicz, Les groupes kählériens, en Symplectic Geometry and Mathematical Physics (P.Donato et al., Ed.), Prog. Math., 99, 245-259, Birkhäuser, 1991.
[21] A.Medina, Ph.Revoy, Groupes de Lie à structure symplectique invariante, Séminaire Sud-Rhodanien, MSRI, Springer-Verlag, 1991, 247-266.
[22] V.Morosov, Classification of nilpotent Lie algebras of sixth order, Izv. Vysch. U. Zaved., Mat., 4:5(1958), 161-171.
[23] M.Romdhani, Classification of real and complex nilpotent Lie algebras of dimension 7, Linear and Multilinear Algebra, 24(1989), 167-189.
[24] C.Seeley, 7-dimensional nilpotent Lie algebras, Trans. Amer. Math. Soc, 335:2(1993), 479-496.
[25] M. Vergne, Cohomologie des algèbres de Lie nilpotentes. Application à l'étude de la variété des algèbres de Lie nilpotentes. Bull. Soc. Math., France, 98, 1970, 81-116.

